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QUESTION 1

In which tier of the IBM Cognos TM1 client-server architecture does the TM1 Administration Server reside? 

A. Tier 2: Web Application Server 

B. Tier 1: Web Client 

C. Tier 4:Relational Store 

D. Tier 3: Data 

Correct Answer: D 

 

QUESTION 2

A company usesExcel workbooks to access IBM Cognos TM1 data over a wide area network. The company needs to
improve the performance of their Excel workbooks which contain multiple slices from multiple TM1 cubes. 

Which two changes will improve performance? (Choose two.) 

A. Convert all DBR() functions to DBRW() functions. 

B. Make all DBRW() functions reference a single VIEW function. 

C. Convert all DBRA() functions to DBRW() functions. 

D. Convert all DBRW() functions to DBR() functions. 

Correct Answer: AC 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, you are asked to allocate overhead expenses to the budget. Currently everything is set to zero.
You are instructed toallocate $100,000 to the Communications budget and to distribute the amount equally across all
months. 

Which three TM1 data spreading operations will allow you to do this? (Choose three.) 

A. Proportional Spread 

B. Equal Spread and selecting the "Extend Right" checkbox 

C. Relative Proportional Spread 

D. Equal Leaves Spread and selecting the "Apply to All Leaf Cells" radio button 

E. Relative Percent Change 

Correct Answer: ABD 

 

QUESTION 4

A user wants to update a TM1 cube with string data from an Excel spreadsheet Which TM1 Excel function will allow you
to do this? 

A. DBRW 

B. DBSW 
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C. DBSS 

D. DBS 

Correct Answer: C 

 

QUESTION 5

Which three selections would you find in the Properties window of the subset editor? (Choose three.) 

A. Alias 

B. Weight 

C. Type 

D. Parent Element 

E. Attribute 

Correct Answer: BCE 
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